A1 A AL OIEAA

oI~ SR, EIQ ¢, &= Hl A S, HE RIS

=5 4Y/HIE o[0ix|

=34 Fof @Rl Bl REEY £
< X ; l( L ;
RAL7021 RAL 2004 RAL 1021 RAL 3020
Wl E s ee eizt 3|4
& X7 P
@ @ °
RAL 6032 RAL 5017 RAL 7035

© HEINRICH KIPP WERK GmbH & Co. KG

ks

HE M: _
QlElA BB WEo
9I8H AL ELICH &

A3 Q|x|2 vzt

1 0l
30
~
i
C
]

o= -1 o =]
Oﬂ "’“EI01 = Elo| el -?—IiIE S0I2 MEIE RXIGHE S Lict
THEL:
1.4308. &2 d}

1.4305. Lw &gl 2l Ea
1.4310. 4&E A= 2
PA ¥7tAM E 32 HE 2.

rH

#EM O]
XMoo 2 OtFE|E LA &2l 2 & F
2 =l odot & XtedX ot 2.
XMoo= Ot FE|E ¢S AZ 3.
Chfeh Mzro| &3 Ht Z:
- &2 3|M RAL 7021
- TE M RAL 2004
- B2 M RAL 1021
- A3 5 WZAH RAL 3020
- Al =M RAL 6032
- A& S mEtA RAL 5017
18t 3|4 RAL 7035

Ml

QT
fon
0

oh

r
r

A
B3 HHE 180° S2/H &3 Elo| My 9IxI2 SotgLich.
ZotAaE He H3 ot S

FLIAR R

AL

AHAE HH.
HMAMzE:

EEHOl*' £ & K0638.
EZXMNY '='¢3' K1290, K1839, K1840.

www.kipp.com - info@kipp.com 1/5



°
bl
AH|OIYA AE!OIHA Z8IX], EIRQ] C, &= HE Y US, HE I
=0
|
- |
I
|
o
- '/'\ -
S .\/=== i
Z5 29
FEHS Etel A= A D D1 D2 L L1 L3 B B1 H Fx30° INES; [22S]
Es =
F12 N F29 N
K1673.1060410 c Z3[A RAL 7021 4 M10 10 39,5 26,3 20 10,9 49 6 1 8 14
K1673.10604101 c Z45|A RAL 7021 4 M10x1 10 39,5 26,3 20 10,9 4,9 6 1 8 14
K1673.1060510 c Z15|A RAL 7021 5 M10 10 39,5 26,3 20 10,9 49 6 1,3 8 14
K1673.10605101 c 43|44 RAL 7021 5 M10x1 10 39,5 26,3 20 10,9 49 6 1,3 8 14
K1673.1060610 c Z45|A RAL 7021 6 M10 10 395 26,3 20 10,9 49 6 1,8 8 14
K1673.10606101 o] Z15|A4 RAL 7021 6 M10x1 10 39,5 26,3 20 10,9 49 6 1,8 8 14
K1673.1060512 c Z43|M RAL 7021 5  M12 12 484 311 25 12,9 57 8 1,3 8 15
K1673.10605121 c Z45|A RAL 7021 5 M12x1,5 12 484 311 25 12,9 57 8 1,3 8 15
K1673.1060612 C Z15|A4 RAL 7021 6 M12 12 484 311 25129 57 8 1,8 8 15
K1673.10606121 c Z45|A RAL 7021 6 M12x1,5 12 484 311 25 12,9 57 8 1,8 8 15
K1673.1060812 c Z45|A RAL 7021 8 M12 12 484 311 25 129 57 8 2,3 8 15
K1673.10608121 o] Z15|A4 RAL 7021 8 M12x1,5 12 48,4 31,1 25 12,9 57 8 23 8 15
K1673.1060616 c Z45|A RAL 7021 6 M16 16 62,3 41532 166 7 10 1,8 15 35
K1673.10606161 c Z45|4 RAL 7021 6 M16x1,5 16 62,3 41532 166 7 10 1,8 15 35
K1673.1060816 C Z15|A4 RAL 7021 8 M16 16 62,3 41532 166 7 10 2,3 15 35
K1673.10608161 c Z45|A RAL 7021 8 M16x1,5 16 62,3 41532 166 7 10 2,3 15 35
K1673.1061016 c Z45|4 RAL 7021 10 M16 16 62,3 415 32 166 7 10 28 15 35
K1673.10610161 c Z15|A4 RAL 7021 10 M16x1,5 16 62,3 41,5 32 166 7 10 2,8 15 35
K1673.1060820 o] Z45|A RAL 7021 8 M20 20 72,3 51,3 35 20,5 85 12 2,3 20 60
K1673.10608201 c Z43|4H RAL 7021 8 M20x1,5 20 72,3 51,3 35 20,5 85 12 2,3 20 60
K1673.1061020 C Z15|A4 RAL 7021 10 M20 20 72,3 51,3 35 20,5 85 12 2,8 20 60
K1673.10610201 o] Z45|A RAL 7021 10 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 2,8 20 60
K1673.1061220 c Z43|4 RAL 7021 12 M20 20 72,3 51,3 35 20,5 85 12 3 20 60
K1673.10612201 o] Z45|A4 RAL 7021 12 M20x1,5 20 72,3 51,3 35 20,5 85 12 3 20 60
K1673.10604102 o] Fo{ 23X| RAL 2004 4  M10 10 39,5 26,3 20 10,9 4,9 6 1 8 14
K1673.106041012 c Fo{ 23IX| RAL 2004 4 M10x1 10 39,5 26,3 20 10,9 4,9 6 1 8 14
K1673.10605102 c Fo{ 23IX| RAL 2004 5 M10 10 39,5 26,3 20 10,9 49 6 1,3 8 14
K1673.106051012 o] Fo{ 23 X| RAL 2004 5 M10x1 10 39,5 26,3 20 10,9 49 6 1,3 8 14
K1673.10606102 c Fo{ 23IX| RAL 2004 6 M10 10 395 26,3 20 10,9 49 6 1,8 8 14
K1673.106061012 c Fo{ 23IX| RAL 2004 6 M10x1 10 39,5 26,3 20 10,9 49 6 1,8 8 14
K1673.10605122 c Fo{ 23X| RAL 2004 5 M12 12 484 311 25 129 57 8 1,3 8 15
K1673.106051212 c Fo{ 23IX| RAL 2004 5 M12x1,5 12 484 311 25 12,9 57 8 1,3 8 15
K1673.10606122 c Fo0{ 23IX| RAL 2004 6 M12 12 484 311 25129 57 8 1,8 8 15
K1673.106061212 c Fo{ 23 X| RAL 2004 6 M12x1,5 12 484 311 25 12,9 57 8 1,8 8 15
K1673.10608122 c Fo{ 23X| RAL 2004 8 M12 12 484 311 25 12,9 57 8 2,3 8 15
K1673.106081212 c Fo{ 2#IX| RAL 2004 8 M12x1,5 12 48,4 31,1 25 12,9 57 8 23 8 15
K1673.10606162 o] Fo{ 2X| RAL 2004 6 M16 16 62,3 41532 166 7 10 1,8 15 35
K1673.106061612 c Fo{ 23X| RAL 2004 6 M16x1,5 16 62,3 41532 166 7 10 1,8 15 35

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/5



°
el
*E1I°lﬂil L8 oM~ SEA ERC ES U EUS, LERS
EZS 29
FEMS Et el THE MY D DI D2 L L1 L3 B B1 H Fx30° A& Ehd
Bty =
F12% N F29%.N
K1673.10608162 C #0{ Q#IX[RAL2004 8 M16 16 623 41532 166 7 10 23 15 35
K1673.106081612 C Fol 2EX|RAL2004 8 M16x1,5 16 62,3 41532 166 7 10 23 15 35
K1673.10610162 @ F0{ Q@X|RAL2004 10 M16 16 623 41532 166 7 10 28 15 35
K1673.106101612 C F0{ Q@X|RAL2004 10 M16x1,5 16 623 415 32 166 7 10 28 15 35
K1673.10608202 c Fol 2X|RAL2004 8 M20 20 72,3 51,3 35 205 8512 23 20 60
K1673.106082012 C F0{ Q@X|RAL2004 8 M20x1,5 20 723 51,3 35 205 85 12 23 20 60
K1673.10610202 @ F0{ Q@X|RAL2004 10 M20 20 723 51,3 35 205 85 12 28 20 60
K1673.106102012 c Fol 2QEX|RAL2004 10 M20x1,5 20 72,3 51,3 35 205 8,512 28 20 60
K1673.10612202 @ F0{ Q@X|RAL2004 12 M20 20 723 513 35 205 8512 3 20 60
K1673.106122012 C #0{ Q@X|RAL2004 12 M20x1,5 20 723 513 35 205 8512 3 20 60
K1673.106041016 C gr2 & RAL 1021 4 M10 10 395 26,3 20 10,9 4,9 6 1 8 14
K1673.1060410116 C g2 = RAL 1021 4  M10x1 10 39,5 26,3 20 109 49 6 1 8 14
K1673.106051016 C g2 =& RAL 1021 5 M10 10 395 263 20 109 49 6 13 8 14
K1673.1060510116 C gr2 £ RAL 1021 5 M10x1 10 39,5 26,3 20 109 49 6 13 8 14
K1673.106061016 C g2 = RAL 1021 6 M10 10 39,5 26,3 20 10,9 49 6 18 8 14
K1673.1060610116 @ g2 = RAL 1021 6 M10x1 10 39,5 26,3 20 109 49 6 18 8 14
K1673.106051216 c Bf2 =2 RAL 1021 5 M12 12 484 311 25 129 57 8 13 8 15
K1673.1060512116 C g2 = RAL 1021 5 M12x15 12 484 31,1 25 129 57 8 13 8 15
K1673.106061216 C g2 = RAL 1021 6 M12 12 484 31125129 57 8 18 8 15
K1673.1060612116 C g2 =2 RAL 1021 6 M12x15 12 48,4 31,1 25 129 57 8 18 8 15
K1673.106081216 C g2 = RAL 1021 8 M12 12 484 31,1 25 129 57 8 23 8 15
K1673.1060812116 c g2 = RAL 1021 8 M12x1,5 12 484 311 25 129 57 8 23 8 15
K1673.106061616 C g2 = RAL 1021 6 M16 16 62,3 41532 166 7 10 18 15 35
K1673.1060616116 C gr2 =3 RAL 1021 6 M16x15 16 62,3 41532 166 7 10 18 15 35
K1673.106081616 @ gr2 = RAL 1021 8 M16 16 623 41532 166 7 10 23 15 35
K1673.1060816116 C g2 =2 RAL 1021 8 M16x15 16 62,3 41,5 32 166 7 10 23 15 35
K1673.106101616 C gr2 =3 RAL 1021 10  M16 16 62,3 41532 166 7 10 28 15 35
K1673.1061016116 @ gr2 = RAL 1021 10 M16x1,5 16 623 415 32 166 7 10 28 15 35
K1673.106082016 C g2 = RAL 1021 8 M20 20 72,3 51,3 35 20,5 85 12 23 20 60
K1673.1060820116 C gr2 =3 RAL 1021 8 M20x1,5 20 72,3 51,3 35 20,5 85 12 23 20 60
K1673.106102016 @ gr2 =& RAL 1021 10 M20 20 723 51,3 35 205 85 12 28 20 60
K1673.1061020116 C g2 = RAL 1021 10 M20x1,5 20 72,3 51,3 35 20,5 85 12 28 20 60
K1673.106122016 C gr2 =3 RAL 1021 12 M20 20 723 51,3 35 205 8512 3 20 60
K1673.1061220116 C gr2 = RAL 1021 12 M20x1,5 20 723 51,3 35 205 85 12 3 20 60
K1673.106041084 C MESWZRAL3020 4  M10 10 39,5 26,3 20 109 49 6 1 8 14
K1673.1060410184 C ASEWZRAL3020 4  M10x1 10 39,5 26,3 20 10,9 4,9 6 1 8 14
K1673.106051084 C MEEWZRAL3020 5 M10 10 395 263 20 109 49 6 1,3 8 14
K1673.1060510184 C MESWZRAL3020 5 M10x1 10 39,5 263 20 109 49 6 13 8 14
K1673.106061084 C AMSEWZRAL3020 6  M10 10 39,5 26,3 20 10,9 49 6 18 8 14
K1673.1060610184 C MEESWZRAL3020 6 M10x1 10 395 263 20 109 49 6 1,8 8 14
K1673.106051284 C MESWZRAL3020 5 M12 12 484 31125 129 57 8 13 8 15
K1673.1060512184 C AMEEWZRAL3020 5 M12x1,5 12 48,4 31,1 25 129 57 8 13 8 15
K1673.106061284 C AMSSWZRAL3020 6  M12 12 484 31,1 25 129 57 8 18 8 15
K1673.1060612184 C MESWZRAL3020 6 M12x15 12 484 311 25 129 57 8 18 8 15
K1673.106081284 C AMSEWZRAL3020 8  M12 12 484 31,1 25 129 57 8 23 8 15
K1673.1060812184 C ASSWZRAL3020 8 M12x1,5 12 48,4 31,1 25 129 57 8 23 8 15
K1673.106061684 C MESWZRAL3020 6 M16 16 623 41532 166 7 10 18 15 35
K1673.1060616184 C AMSEWZRAL3020 6 M16x1,5 16 62,3 41,5 32 166 7 10 18 15 35
K1673.106081684 c MEESWZRAL3020 8 M16 16 623 41532 166 7 10 23 15 35
K1673.1060816184 C MESWZRAL3020 8 M16x15 16 623 415 32 166 7 10 23 15 35
K1673.106101684 C ASEWZRAL3020 10 M16 16 62,3 41,5 32 166 7 10 28 15 35
K1673.1061016184 C AME S WZRAL3020 10 M16x1,5 16 623 415 32 166 7 10 28 15 35
K1673.106082084 C MEESWZRAL3020 8  M20 20 723 51,3 35 205 85 12 23 20 60
K1673.1060820184 C MEEWZRAL3020 8 M20x1,5 20 723 51,3 35 205 85 12 23 20 60
K1673.106102084 C MESWZRAL3020 10 M20 20 723 51,3 35 205 85 12 28 20 60
K1673.1061020184 C AMEESWZ RAL3020 10 M20x1,5 20 723 51,3 35 205 85 12 28 20 60
K1673.106122084 C MEEWZRAL3020 12  M20 20 723 513 35 205 85 12 3 20 60
K1673.1061220184 C AUZSWZ RAL3020 12 M20x1,5 20 72,3 51,3 35 205 85 12 3 20 60
K1673.106041086 c Aad = RAL6032 4  M10 10 39,5 26,3 20 10,9 49 6 1 8 14
K1673.1060410186 C Aad =4 RAL6032 4  M10xT 10 39,5 26,3 20 10,9 49 6 1 8 14
K1673.106051086 C Aad =4RAL6032 5 M10 10 395 263 20 109 49 6 13 8 14

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com  3/5



°
bl
*E1I°|Eﬂ AEOlHA S/ EIR C &= HH A USF, HE S
EZS 29
FEHS EfJ S AR D D1 D2 L L1 L3 B B1 H Fx30° INES] EtM
EbAM E2
F12E N F22. N
K1673.1060510186 c AlZ'd 54 RAL 6032 5 M10x1 10 39,5 26,3 20 109 4,9 6 1,3 8 14
K1673.106061086 c Al2d 54 RAL 6032 6 M10 10 39,5 26,3 20 109 49 6 1,8 8 14
K1673.1060610186 c Ala'd 54 RAL 6032 6 M10x1 10 39,5 26,3 20 109 49 6 18 8 14
K1673.106051286 c AlZ'd =S4 RAL 6032 5 M12 12 484 311 25 129 57 8 1,3 8 15
K1673.1060512186 c Al2d 54 RAL 6032 5 M12x1,5 12 484 31,1 25 129 57 8 13 8 15
K1673.106061286 c Al2'd 54 RAL 6032 6 M12 12 484 311 25 129 57 8 1,8 8 15
K1673.1060612186 c AlZ'd =S4 RAL 6032 6 M12x1,5 12 484 31,1 25 129 57 8 18 8 15
K1673.106081286 c A2 54 RAL 6032 8 M12 12 484 311 25 12,9 57 8 2,3 8 15
K1673.1060812186 c Al2'd 54 RAL 6032 8 M12x1,5 12 484 31,1 25 129 57 8 23 8 15
K1673.106061686 c Al2'd SM RAL 6032 6 M16 16 62,3 415 32 166 7 10 1,8 15 35
K1673.1060616186 c A4 S5 RAL 6032 6 M16x1,5 16 62,3 415 32 166 7 10 18 15 35
K1673.106081686 c Al2'd 54 RAL 6032 8 M16 16 62,3 415 32 166 7 10 2,3 15 35
K1673.1060816186 c Al1d S5M RAL 6032 8 M16x1,5 16 62,3 415 32 166 7 10 23 15 35
K1673.106101686 c Ala'd s RAL 6032 10 M16 16 62,3 415 32 166 7 10 2,8 15 35
K1673.1061016186 c Al2'd 54 RAL 6032 10 M16x1,5 16 62,3 41,5 32 166 7 10 2,8 15 35
K1673.106082086 C Al2'd SM RAL 6032 8 M20 20 72,3 51,3 35 20,5 85 12 2,3 20 60
K1673.1060820186 c Ala'd s RAL 6032 8 M20x1,5 20 72,3 51,3 35 20,5 85 12 2,3 20 60
K1673.106102086 c Al2'd 54 RAL 6032 10 M20 20 72,3 51,3 35 20,5 85 12 2,8 20 60
K1673.1061020186 C Al2'd =4 RAL 6032 10 M20x1,5 20 72,3 51,3 35 20,5 85 12 28 20 60
K1673.106122086 c Al2d 54 RAL 6032 12 M20 20 72,3 51,3 35 20,5 8,5 12 3 20 60
K1673.1061220186 c Al2'd 54 RAL 6032 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 3 20 60
K1673.106041087 c ﬁl_h & RAL 5017 4 M10 10 39,5 26,3 20 10,9 49 6 1 8 14
K1673.1060410187 C A5 5 g RAL 5017 4  M10x1 10 39,5 26,3 20 10,9 4,9 6 1 8 14
K1673.106051087 C A5 5 mE RAL 5017 5 M10 10 39,5 26,3 20 10,9 49 6 1,3 8 14
K1673.1060510187 c A5 5 g RAL 5017 5 M10x1 10 39,5 26,3 20 109 49 6 1,3 8 14
K1673.106061087 c Al S o2 RAL 5017 6 M10 10 39,5 26,3 20 10,9 49 6 1,8 8 14
K1673.1060610187 C A5 5 nig RAL 5017 6 M10x1 10 39,5 26,3 20 109 4,9 6 18 8 14
K1673.106051287 C A% 5 mig RAL 5017 5 M12 12 484 311 25 12,9 57 8 1,3 8 15
K1673.1060512187 C Al S o2 RAL 5017 5 M12x1,5 12 484 311 25 129 57 8 13 8 15
K1673.106061287 C A5 5 niE RAL 5017 6 M12 12 484 311 25 129 57 8 1,8 8 15
K1673.1060612187 c A% 5 mig RAL 5017 6 M12x1,5 12 484 31,1 25 129 57 8 18 8 15
K1673.106081287 C Al S 2 RAL 5017 8 M12 12 484 311 25 129 57 8 2,3 8 15
K1673.1060812187 C A5 5 niE RAL 5017 8 M12x1,5 12 484 31,1 25 129 57 8 23 8 15
K1673.106061687 c A% 5 mig RAL 5017 6 M16 16 62,3 415 32 166 7 10 1,8 15 35
K1673.1060616187 C AlES o2 RAL 5017 6 M16x1,5 16 62,3 415 32 166 7 10 18 15 35
K1673.106081687 c A5 5 nig RAL 5017 8 M16 16 62,3 415 32 166 7 10 2,3 15 35
K1673.1060816187 c A5 5 g RAL 5017 8 M16x1,5 16 62,3 415 32 166 7 10 23 15 35
K1673.106101687 C AlE S 2 RAL 5017 10 M16 16 62,3 415 32 166 7 10 2,8 15 35
K1673.1061016187 C A5 5 nE RAL 5017 10 M16x1,5 16 62,3 415 32 166 7 10 2,8 15 35
K1673.106082087 c A5 5 mig RAL 5017 8 M20 20 72,3 51,3 35 20,5 85 12 2,3 20 60
K1673.1060820187 C AlE S 2 RAL 5017 8 M20x1,5 20 72,3 51,3 35 20,5 85 12 23 20 60
K1673.106102087 C A5 5 nig RAL 5017 10 M20 20 72,3 51,3 35 20,5 85 12 2,8 20 60
K1673.1061020187 c A% 5 mig RAL 5017 10 M20x1,5 20 72,3 51,3 35 20,5 85 12 28 20 60
K1673.106122087 C A5 S 2 RAL 5017 12 M20 20 72,3 51,3 35 20,5 8,5 12 3 20 60
K1673.1061220187 C A5 5 nig RAL 5017 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 3 20 60
K1673.106041088 C Q45 3| M RAL 7035 4 M10 10 39,5 26,3 20 10,9 49 6 1 8 14
K1673.1060410188 C Q45 5| M RAL 7035 4  M10x1 10 39,5 26,3 20 10,9 4,9 6 1 8 14
K1673.106051088 C Q45 5|M RAL 7035 5 M10 10 39,5 26,3 20 10,9 49 6 1,3 8 14
K1673.1060510188 C Q45 3|M RAL 7035 5 M10x1 10 39,5 26,3 20 109 49 6 1,3 8 14
K1673.106061088 C Q45 5| M RAL 7035 6 M10 10 39,5 26,3 20 10,9 49 6 1,8 8 14
K1673.1060610188 C 43t 3|A RAL 7035 6 M10x1 10 39,5 26,3 20 109 4,9 6 18 8 14
K1673.106051288 C Q43 5|A RAL 7035 5 M12 12 484 311 25 12,9 57 8 1,3 8 15
K1673.1060512188 C Q45 5| M RAL 7035 5 M12x1,5 12 484 31,1 25 129 57 8 13 8 15
K1673.106061288 C 43t 3|A RAL 7035 6 M12 12 484 311 25 129 57 8 1,8 8 15
K1673.1060612188 C Q43 5|A4 RAL 7035 6 M12x1,5 12 484 31,1 25 129 57 8 18 8 15
K1673.106081288 C Q45+ 5| M RAL 7035 8 M12 12 484 311 25 129 57 8 2,3 8 15
K1673.1060812188 c Q43 5|A RAL 7035 8 M12x1,5 12 484 31,1 25 129 57 8 23 8 15
K1673.106061688 C Q43 3|M RAL 7035 6 M16 16 62,3 415 32 166 7 10 1,8 15 35
K1673.1060616188 C Q45 5| M RAL 7035 6 M16x1,5 16 62,3 415 32 166 7 10 18 15 35
K1673.106081688 c 43t 3|A RAL 7035 8 M16 16 62,3 415 32 166 7 10 2,3 15 35
K1673.1060816188 C Q43 3|M RAL 7035 8 M16x1,5 16 62,3 415 32 166 7 10 23 15 35

© HEINRICH KIPP WERK GmbH & Co.

www.kipp.com -

info@kipp.com

4/5



°
bl
2H|QIE| A AE QI A SEA] EIR C EZ HH A AUAF, LIE SIS
EZS 29
FEMS Et el THE MY D DI D2 L L1 L3 B B1 H Fx30° A& Ehd
Bty 5=
F19 N F29.N
K1673.106101688 C Q43 3|M RAL 7035 10 M16 16 62,3 41532 166 7 10 28 15 35
K1673.1061016188 C Qi8t 5|44 RAL 7035 10 M16x1,5 16 62,3 415 32 166 7 10 28 15 35
K1673.106082088 c Q4% 3|M RAL 7035 8 M20 20 72,3 51,3 35 20,5 85 12 23 20 60
K1673.1060820188 c Q4% 2| RAL 7035 8 M20x1,5 20 72,3 51,3 35 20,5 85 12 2,3 20 60
K1673.106102088 c Q45 3| RAL 7035 10 M20 20 72,3 51,3 35 20,5 8512 28 20 60
K1673.1061020188 c Q4% 3|M RAL 7035 10 M20x1,5 20 72,3 51,3 35 20,5 85 12 28 20 60
K1673.106122088 c Q43 3| RAL 7035 12 M20 20 72,3 51,3 35 20,5 8,5 12 3 20 60
K1673.1061220188 C Qi8t 5|44 RAL 7035 12 M20x1,5 20 72,3 51,3 35 20,5 8,5 12 3 20 60
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 5/5



